(B (5 e (2 P05 Gapud 7 PS5 iy Vol Jdow

Cows 4 s 5lo Julos 9, 4 1) BD 5 AD slae! slag s 5 a8 4SS sla Joall (oS ol gl S o8 pis =)

]

3 ton
1 2ton——, D
3Im EA=constant
% C
A B o
yi / /
/ 7 7
4m Sm

6 51) e s 1y B (a5 5 (ohad (5lo S 8L 5 350 Jlod e 5o Sl 2y 4 1 5 S8 OB Y
(anles 5 By Lasl () pme JS4 05

10 ton

4
@]
AN

El=constant
5m

8m




(D (G e (g2 S

G 7 P53 iy

Y bl Jubow

Lael ngj:mdi.‘Ziju“J;Uj‘ ) ) Ji.i',); s asly ylis o;}«f)\.;(_g\)'\qd,.adtu UGJA:JCM.:‘ ujlk.o -Y

6 m

LAL

2 ton/m

reza
ya
/

El=constant

8m

(led b B0

sl s 4 e o s 0 Ll (sl 5 ol oS s S5 Ol -F

3 ton/m

EI=5000 t. m?

9m

L8

4.5m




